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38 questions.
Please write your name below this line, on a line.
_________________________________________

_________________________________________

_________________________________________

GET READY!

	1. 
	Composting utilizes bacteria and other microorganisms to break down organic matter into useable, fertile soil.  This is an example of:  


	A. 
	Scavenging

	B. 
	Decomposition

	C. 
	Symbiosis

	D. 
	Sustainability


	2. 
	What are the basic needs of living things?

	A. 
	Food and water

	B. 
	Habitat

	C. 
	Exchange of gases, especially oxygen and carbon dioxide

	D. 
	All of the above



	3. 
	Which of the following is an adaptation of an organism?



	A. 
	Humans look both ways before crossing the street

	B. 
	The special feet of robins that have three front toes and one hind toe that automatically lock around a branch when they land

	C. 
	A dog learning to sit when given a cue or command such as “sit”

	D. 
	None of the above



	4.
	A log is an example of an ecosystem.  The parts of this ecosystem include:



	A. 
	The organisms living in and on the log

	B. 
	The soil, temperature, and other non-living features around the log

	C. 
	Both A and B

	D. 
	None of the above



	5. 
	Commensalism occurs when:



	A. 
	Two species live closely together in a relationship that lasts over time

	B. 
	Two different organisms have a relationship where each partner benefits

	C. 
	Two different organisms have a relationship where one organism benefits and the other organism is harmed

	D. 
	Two different organisms have a relationship where one organism benefits and the other neither gains nor loses anything



	6. 
	Parasitism occurs when:

	A. 
	Two species live closely together in a relationship that lasts over time

	B. 
	Two different organisms have a relationship where each partner benefits

	C. 
	Two different organisms have a relationship where one organism benefits and the other organism is harmed

	D. 
	None of the above

	7. 
	Mutualism occurs when:



	A. 
	Two species live closely together in a relationship that lasts over time

	B. 
	Two different organisms have a relationship where each partner benefits

	C. 
	Two different organisms have a relationship where one organism benefits and the other organism is harmed

	D. 
	Two different organisms have a relationship where one organism benefits and the other neither gains nor loses anything



	8. 
	Symbiosis occurs when:



	A. 
	Two species live closely together in a relationship that lasts over time

	B. 
	Two different organisms have a relationship where each partner benefits

	C. 
	Two different organisms have a relationship where one organism benefits and the other organism is harmed

	D. 
	Two different organisms have a relationship where one organism benefits and the other neither gains nor loses anything



	9. 
	Abiotic means non-living things, biotic means living things in an environment.

	A. 
	TRUE

	B. 
	FALSE

	
	

	10. 
	 Sustainability is:


	A. 
	A calculation of the total area of land and water needed to supply all of the materials and energy humans use, as well as absorb the waste produced

	B. 
	All interacting parts of a biological community and its environment

	C. 
	When resources are being renewed at least as quickly as they are being used.

	D. 
	The location where an organism lives


	11.
	Natural resources are:

	A. 
	The materials and products found in nature.

	B. 
	All interacting parts of a biological community and its environment

	C. 
	When resources are being renewed at least as quickly as they are being used.

	D. 
	The location where an organism lives



	12. 
	Prey are killed and consumed by other animals called:

	A. 
	Scavengers

	B. 
	Predators

	C. 
	Prey

	D. 
	Producers

	13. 
	Energy flow is:



	A. 
	The movement of pollutants that are passed from one organism to the next

	B. 
	The breakdown of dead material by decomposers, which transfers nutrients to their cells and back into the ecosystem

	C. 
	The movement of energy, starting from the sun, and passing from one organism to the next 

	D. 
	The circulation of carbon around an ecosystem



	14.
	Ecological footprint is a calculation of the total area of land and water needed to supply all of the materials and energy a human uses, as well as absorb the waste produced.


	A. 
	TRUE

	B. 
	FALSE



	15. 
	Which of the following are abiotic parts of an ecosystem?



	A. 
	Minerals

	B. 
	Worms

	C. 
	Decomposers

	D. 
	A and C



	16. 
	Carbon circulates around and around an ecosystem.  Which of the following puts carbon into the atmosphere?



	A. 
	Forest fires

	B. 
	Burning of fossil fuels

	C. 
	Animal respiration (i.e. breathing)

	D. 
	Photosynthesis

	E.
	A, B and C



	17. 
	The carbon cycle is:



	A. 
	The cycle in which carbon is used and reused in an ecosystem.

	B. 
	The total mass of living matter in an ecosystem.

	C. 
	The cycle in which water is used and reused in an ecosystem.

	D. 
	The total carbon in an ecosystem.



	18. 
	Bioaccumulation occurs when:


	A. 
	Microorganisms decompose dead, organic material

	B. 
	Pollutants enter the food web and accumulate in the higher level consumers

	C. 
	Pollutants enter the food chain and accumulate in lower level producers 

	D. 
	Organic matter piles up in forests, leading to fires and natural regrowth

	19. 
	Bracket fungus digests the dead cells of tree bark.  What kind of organism is the Bracket fungus?



	A. 
	Scavengers

	B. 
	Producers

	C. 
	Decomposer

	D.
	A and C

	E.
	B and C

	 
	

	20. 
	A permanent plot is created just outside of Calgary to study the effects of human development and expansion on the environment.  Information is gathered by scientists as a starting point to compare changes in the environment.  This information is called:


	A. 
	Biological control

	B. 
	Baseline data

	C. 
	An ecosystem

	D. 
	An ecological footprint

	
21. 
	
When a forest fire destroys a certain area, regeneration occurs.  This is an example of…


	A. 
	Recycling

	B. 
	Primary succession

	C. 
	Secondary succession

	D. 
	Eco-succession


	22. 
	A niche is:

	A. 
	The role an organism plays in an ecosystem.

	B. 
	A network of interconnected food chains.

	C. 
	Non-living organisms in an environment

	D. 
	A monkey that lives in North America that feeds on the fear of children and adults alike.


	23. 
	Biomass is:


	A. 
	The weight of animals in an environment.

	B. 
	The total mass of living matter.

	C. 
	The total mass of non-living matter.

	D. 
	The weight of plants in an ecosystem.

	E.
	None of the above.



	24.
	A scavenger is:


	A. 
	An organism that feeds on dead or decaying plant or animal matter

	B. 
	An organisms that break down the cells of dead or waste material and absorb their nutrients

	C.
	An organism that uses energy from the sun to make food energy or nutrients for themselves to survive

	D. 
	None of the above.

	 
	

	25. 
	An example of primary succession is:


	A. 
	The regeneration of a burned forest

	B. 
	Animals living in a well developed ecosystem

	C. 
	Lichens, mosses, and ferns gradually grow on bare rock

	D.
	Clear cutting of a forest

	E. 
	All of the above 


	26. 
	Leafy spurge is a weed that was introduced into Canada in the late 1800’s.  Since cattle would not eat it, pasture grasslands have become infested with leafy spurge.  The black dot spurge beetle was introduced into Alberta in 1983 and has successfully controlled the spread of the leafy spurge.  This is an example of:


	A. 
	Succession

	B. 
	Biological control

	C. 
	An indicator species

	D. 
	Bioaccumulation

	
	

	27. 
	Biotic is:


	A. 
	Organisms that break down the cells of dead or waste material and absorb their nutrients

	B. 
	Non-living organisms in an environment

	C. 
	Living organisms in an environment

	D.
	The role an organism plays in an environment

	
	

	28. 
	A report was submitted to the Alberta government by students concerned with the damage being done to the Fish Creek wetlands by residential construction in the area.  This report is an:



	A. 
	Ecosystem report

	B. 
	Environmental Impact Assessment

	C. 
	Environmental disaster

	D. 
	Ecological Damage Summary

	
	

	29. 
	The three R’s used to shrink your ecological footprint stand for:

	A. 
	Reduce, Return, Recycle

	B. 
	Reuse, Recycle, Reduce

	C. 
	[image: image1.png]


Recognize, React, Respond

	D.
 
	Redo, React, Respond



	30. 
	In the water cycle diagram to the right,
What term applies to point 2.



	A. 
	Evaporation

	B. 
	Condensation

	C. 
	Precipitation

	D. 
	Transpiration

	
	

	31. 
	Zebra mussels were introduced to the 
Great Lakes by ships that released their

larvae into the water.  With no natural

predators, the mussels were able to 

survive and thrive.  This is an example of:



	A. 
	Biological control

	B. 
	An extinct species

	C. 
	An endangered species

	D. 
	An introduced species

	E.
	Bioaccumulation

	
	

	32.
	Which of the following is a factor that leads to the extinction of a species:


	A. 
	Biological control

	B. 
	Overhunting

	C.
	Habitat loss

	D. 
	B and C

	E. 
	A and B


	33. 
	Which of the following is not a basic need in Alberta, but rather an “unnecessary” want? 



	A. 
	Clean water from our taps

	B. 
	Fruits and vegetables imported from different countries

	C. 
	A house or shelter to protect us from the elements

	D.
	All of the above

	
	

	34. 
	Amphibians are good indicator species because:


	A. 
	They are sensitive to environmental change

	B. 
	Pesticides, acid rain, and the loss of habitat can all affect amphibians.

	C. 
	A worldwide task force has been created to monitor amphibian populations, giving us a larger perspective regarding fluctuations and changes in amphibian populations.

	D. 
	All of the above

	
	

	35. 
	A food web is:

	A. 
	The prey caught in the web of a spider

	B. 
	A model representing the number of organisms interacting in an ecosystem

	C.
	A combination of many different food chains.

	D. 
	All of the above


	36. 
	Using the pyramid of numbers and the average masses of the organisms given below, find the biomass of the ecosystem.  
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Osprey = 100 kg

Pike = 10 kg

Perch = 5 kg

Shrimp = 1 kg



	A. 
	116 kg

	B. 
	1111 kg

	C. 
	1600 kg

	D. 
	1700 kg

	
	

	37. 
	If the population of caribou suddenly declined in a particular area it would be noticed by this type of ecosystem monitoring

	A. 
	Physical

	B. 
	Chemical

	C. 
	Biological

	D. 
	Environmental


	38. 
	In a regular year, there are 365 days.  How many days are in a leap year? 


	A. 
	365

	B. 
	366

	C. 
	370

	D. 
	None of the above


**Do not write in this booklet or cheat on this test, because someone has to re-use it, and you are destroying trees AND you are morally better than that.  You can’t cheat life.**

